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Q 1. निम्ननिनित आव््ययूह पर निचार कीनि्ये: 

UPSC (Pre.) 2013

3 370 7
2 224 6
1 730 X

ऊपर नि्ये गए आव््ययूह मेें ‘X’ के स््थाि पर कौि-सी 
संख््या ह?ै

(a) 5
(b) 8
(c) 9
(d) 11                               

Q 2. िीचे िी गई सारणी पर निचार कीनि्य,े निसमेें संख््याएँ 
पंक््तत्यों के सा्थ आपस मेें निशेष सम््बन््ध रिती हैं: 

UPSC (Pre.) 2014

29 13 18
33 X 19
30 27 3

निम्ननिनित मेें से कौि-सी एक संख््या, उप्य्ययु्तत X द्ारा 
इंनगत ि्यप्त संख््या ह?ै

(a) 19
(b) 15
(c) 14
(d) 8                                 

Q 3. िीचे नि्ये गए आव््ययूह पर निचार कीनि्ये:

UPSC (Pre.) 2015

3 8 10 2 ? 1
6 56 90 2 20 0

आव््ययूह मेें प्रश्न नचह्न (?) िािे िाि ेमेें ि्यप्त सखं््या ्त्या है?

(a) 5
(b) 0
(c) 7
(d) 3                                 

Q 1. Consider the following matrix:

UPSC (Pre.) 2013

3 370 7
2 224 6
1 730 X

What is the number at ‘X’ in the above 
matrix?

(a) 5
(b) 8
(c) 9
(d) 11                               

Q 2. Consider the table given below in which the 
numbers bear certain relationship among 
themselves along the rows: UPSC (Pre.) 2014

29 13 18
33 X 19
30 27 3

Which one of the following numbers is the 
missing number indicated above by X?

(a) 19
(b) 15
(c) 14
(d) 8                                 

Q 3. Consider the following matrix:

UPSC (Pre.) 2015

3 8 10 2 ? 1
6 56 90 2 20 0

What is the missing number at “?” in the matrix?

(a) 5
(b) 0
(c) 7
(d) 3                                 
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Q 4. श्ेणी 7. X, 21, 31, 43 मेें ि्यप्त संख््या ‘X’ ्त्या ह?ै

UPSC (Pre.) 2015
(a) 11
(b) 12
(c) 13
(d) 14                               

Q 5. निम्ननिनित अि्यक्रमे पर निचार कीनि्ये- 

UPSC (Pre.) 2018
4/12/95, 1/1/96, 29/1/96, 26/2/96…… 

इस अि्यक्रमे का अगिा पि ्त्या होगा ?

(a) 24/3/96
(b) 25/3/96
(c) 26/3/96
(d) 27/3/96                      

Q 6. िीचे नि्ये गए ्योग पर निचार कीनि्ये  

UPSC (Pre.) 2018
* +1*+2*+3*+1*=21*

उप्य्ययु्तत ्योग * नकसके नि्ये ह?ै

(a) 4 
(b) 5
(c) 6
(d) 8                                

Q 7. संख््याओं के निम्ननिनित प्रनतरूप पर निचार कीनि्ये-

UPSC (Pre.) 2018

8 10 15 13
6 7 5 4
4 6 8 8
6 11 16 ?

उप्य्ययु्तत प्रनतरूप मेें ? के स््थाि पर कौि-सी संख््या 
आएगी?

(a) 17
(b) 19
(c) 21
(d) 23 

Q 4. What is the missing number ‘X’ of the 
series 7, X, 21, 31, 43, ? UPSC (Pre.) 2015

(a) 11
(b) 12
(c) 13
(d) 14                               

Q 5. Consider the sequence given below.

UPSC (Pre.) 2018
4/12/95, 1/1/96, 29/1/96, 26/2/96..... 

What is the next term of the series?

(a) 24/3/96
(b) 25/3/96
(c) 26/3/96
(d) 27/3/96                     

Q 6. Consider the following sum 

UPSC (Pre.) 2018
* +1*+2*+3*+1*=21*

In the above sum, * stands for 

(a) 4 
(b) 5
(c) 6
(d) 8                                

Q 7. Consider the following pattern of numbers: 

UPSC (Pre.) 2018

8 10 15 13
6 7 5 4
4 6 8 8
6 11 16 ?

What is the number at ? in the above 
pattern?

(a) 17
(b) 19
(c) 21
(d) 23 
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Q 8. अि्यक्रमे 132, 129, 124, 117, 106, 93, X मेें X 
्त्या है  UPSC (Pre.) 2019

(a) 74 

(b) 75

(c) 76

(d) 77                               

Q 9. अि्यक्रमे 4, 196, 16, 144, 36, 100,64, X मेें X 
्त्या है ? UPSC (Pre) 2019

(a) 48 

(b) 64 

(c) 125

(d) 256                              

Q 10. नकसी निन््यास का अि्यसरण करिे िािे निम्ननिनित 
अि्यक्रमे पर निचार कीनि्ये:  UPSC (Pre) 2019

c_accaa_aa_bc_b 

रर्तत स््थािों मेें आिे िािे अक्षर कौि से हैं?

(a) abba

(b) cbbb

(c) bbbb

(d) cccc                            

Q 11. निम्ननिनित संख््याओं के अि्यक्रमे पर निचार कीनि्ये-

UPSC (Pre.) 2020
5 1 4 7 3 9 8 5 7 2 6 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6

ऊपर नििे ह्यए अि्यक्रमे मेें नकतिी निषमे संख््याओं के 
्बाि निषमे संख््या आती ह?ै

(a) 5

(b) 6

(c) 7

(d) 8                                 

Q 8. What is X in the sequence 132, 129, 124, 
117, 106, 93, X UPSC (Pre.) 2019

(a) 74 

(b) 75

(c) 76

(d) 77                               

Q 9. What is X in the sequence 4, 196, 16, 144, 
36, 100,64, X? UPSC (Pre) 2019

(a) 48 

(b) 64 

(c) 125

(d) 256                              

Q 10. Consider the following sequence that 
follows some arrangement:  UPSC (Pre) 2019

c_accaa_aa_bc_b

The letters that appear in the gaps are

(a) abba

(b) cbbb

(c) bbbb

(d) cccc                            

Q 11. Consider the following sequence of numbers: 

UPSC (Pre.) 2020
5 1 4 7 3 9 8 5 7 2 6 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6

How many odd numbers are followed by 
the odd number in the above sequence? 

(a) 5

(b) 6

(c) 7

(d) 8                                 
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Q 12. अि्यक्रमे 14, 18, 20, 24, 30, 32, की प्रत््ेयक 
संख््या मे ें एक सरि गनणती्य संनक्र्या द्ारा 
अभाज््य संख््याओं का एक अि्यक्रमे प्राप्त नक्या 
िाता है। निम्न मेें से  कौि-सी अि्यक्रमे की अगिी 
संख््या है? UPSC (Pre.) 2020

(a) 34
(b) 36
(c) 38
(d) 40                               

Q 13. एक नि्ये गए अि्यक्रमे 3, 2, 7, 4, 13, 10, 21, 18, 
31, 28, 43,40 मेें, गित पि को सही पि से ्बििें, 
िहाँ निषमे पि और समे पि समेाि पैटियु का 
अि्यसरण करते हैं। UPSC (Pre.) 2021

(a) 0
(b) 1
(c) 3
(d) 6                                 

Q 14. िीचे िो पंक््तत्यों मेें िो सियुसमे अि्यक्रमे नि्ये गए हैं:
UPSC (Pre.) 2021

 अनुक्रम-I 8 4 6 15 52.5 236.25
अनुक्रम-II 5 A B C D E

अि्यक्रमे-II के नि्ये C के स््थाि पर ्त्या प्रनिक््टट ह?ै

(a) 2.5

(b) 5

(c) 9.375

(d) 32.8125                      

Q 15. अि्यक्रमे 2, 7, 22, 67, 202 X 1822 मेें ‘X’ का मेाि 
्त्या ह?ै UPSC (Pre.) 2021

(a) 603 

(b) 605 

(c) 607

(d) 608               

Q 12. A simple mathematical operation in each 
number of the sequence 14, 18, 20, 24, 30, 32....
results in a sequence with respect of prime 
numbers. Which one of the following is the next 
number in the sequence? UPSC (Pre.) 2020

(a) 34
(b) 36
(c) 38
(d) 40                               

Q 13. Replace the incorrect term by the correct term 
in the given sequence 3. 2, 7, 4, 13, 10. 21, 18, 31, 
28, 43, 40 where odd terms and even terms 
follow the same Pattern. UPSC (Pre.) 2021

(a) 0
(b) 1
(c) 3
(d) 6                                 

Q 14. You are given two identical sequences in two 
rows: UPSC (Pre.) 2021

Sequence-I 8 4 6 15 52.5 236.25
Sequence-II 5 A B C D E

What is the entry in the place of C for the 
Sequence-II?
(a) 2.5

(b) 5

(c) 9.375

(d) 32.8125                      

Q 15. What is the value of ‘X’ in the sequence 2, 
7, 22, 67, 202, X, 1822 ?  UPSC (Pre.) 2021

(a) 603 

(b) 605 

(c) 607

(d) 608          
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Q 16. अि्यक्रमे 2 12 36, 80, 150 X मेें X का मेाि ्त्या ह?ै 

UPSC (Pre.) 2022
(a) 248
(b) 252
(c) 258
(d) 262                             

Q 17. अि्यक्रमे 20, 10, 10, 15.30, 75, X मेें X का मेाि ्त्या है?

UPSC (Pre.) 2022
(a) 105
(b) 120
(c) 150
(d) 225                           

Q 16. What is the value of X in the sequence ?, 
12, 36.80,150, X?  UPSC (Pre.) 2022

(a) 248
(b) 252
(c) 258
(d) 262                             

Q 17. What is the value of X in the sequence 20, 
10, 10, 15, 30, 75, X? UPSC (Pre.) 2022

(a) 105
(b) 120
(c) 150
(d) 225                            
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